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Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet to the
invigilators at the end of the examination compulsorily

and must not carry it with you outside the Examination
Hall.
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PAPER -1
WUA—1

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

TG Y9I B Ue (50) Sg-fashed @ U9 ¥ 1 U U9 6 9 (2) ok ¥ 1 |t wEE % S

ST |
1.  Discussion Method can be used when :
(A) The topic is very difficult (B) The topic is easy
(C) The topic is difficult (D) All the above

2. Which of the following is a teaching aid ?
(A) Working Model of Wind Mill (B) Tape Recorder

(C©) 16 mm Film Projector (D) All the above

3.  The main aim of teaching is :
(A) To develop only reasoning (B) To develop only thinking
(C) Both (A) and (B) (D) To give information

1. foem-fomst fafy o swim fen s gehar € sefe -
(A) I Igd Hicd | (B) TRV WA 7|
(C) 9RO hfcd 7| (D) W% gt |

2. T & & st foreror-weme wmit g2
(A) e T o1 SR gfaam (B) <9 ferrEx
(C) 16 TH TH fheH HisieRt (D) SWw g+t

3. TmmesgaERwms:

(A) A dh wfh A faemE (B) ke faw= =1 forehmd
(C) (A) &R (B) T (D) =S
WXYZ -00 3 P.T.O.



4.  The quality of teaching is reflected :

(A) By the attendance of students in the class

(B) By the pass percentage of students

(C) By the quality of questions asked by students

(D) By the duration of silence maintained in the class
5.  The present annual examination system :

(A) promotes rote learning

(B) does not promote good study habits
(C) does not encourage students to be regular in class
(D) All the above
6. A college wants to give training in use of Statistical Package for Social Sciences (SPSS)
to researchers. For this the college should organise :
(A) Conference (B) Seminar
(C) Workshop (D) Lecture

7. Which of the following is NOT the characteristic of a research ?
(A) Research is systematic (B) Research is not a process

(C) Research is problem oriented (D) Research is not passive

8.  Which of the following statement is correct ?

(A) Discoveries are researches

(B) Researches lead to discovery
(C) Invention and Research are related
(D) None of the above

9.  Which of the following statement is correct ?

(A) In research, objectives can be worded in question form

(B) In research, objectives can be worded in statement form
(C) Objectives are to be stated in Chapter I of the Thesis
(D) All the above

WXYZ —-00 4



Toreror =6t Tqorar yefdid 2t ©
(A) het H BT ki ufafd @
(B) B i 3iT0f gfasid 9

(C) B % gR e T YT i oo §

(D) hef § Il oA T@H i s1afy 9

A a1t TET g

(A) T fo=n =1 Weafed e §

(B) 3T=3 UG o 3TQd ohl UIcHT(ed Ta| hidl &

(C) BTl &l el § fafid o & forw wiemnfea =&t e
(D) 3IHH G+t

T HRIfoanerd 319 St =1 gmfee faqmi & fae giegenta Yo &t yam-fafy 4
yforfera e =mear ¥ 39 forw 39 eEifea s =nfeu

(A) HHAA (B) HEt

(C) <RI (D) R
Freferfea & 9 i s o1 7or = €2

(A) Y Hafeed gt g (B) e ufpan et ¥
(C) i HEAT Wb Bt T (D) iy fafsspar =it et
frefafea § 9 9 9 % w6 72

(A) TR STTEUH B ¥

(B) STIEYM SMaT=hR T & |

(C) onfoehrR 3R ATHHM Haiftd 2 1
(D) STI® #¥ HIE T |

frafafea § 9§ s we 9@ § ?

(A) Iy H IR T IIATHR H ha S 7

(B) Iy # I I HYAHR H el Sl ¢ |

(C) 3RYE! I NI F YW T | el S |
(D) IHH |t
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10. Match List A with List B and choose the correct answer from the code given below :
List A List B

(a) Historical Method (i) Past events
(b) Survey Method (i) Vision
(c) Philosophical Method (iii) Present events
(d) Experimental Method (iv) Exceptional cases
(v)  Future action
Code :
@ (b (c) (d)
(a) @ @) ) (v)
B @ i v O
© ® G @ v)
D) @ i @) (@)

Read the following passage and answer the question numbers 11 to 15.

Each day at the Shantiniketan School starts with the Saraswati Vandana. When
painting competitions are held in the school, images of Hindu gods and goddesses are
most common. Sanskrit is a favourite subject of many a student. Nothing new about it
except that the 1,200 - odd students studying in the Hindu - run school are Muslims.

In 1983, when Ranchodbhai Kiri started Shantiniketan in the all - Muslim Juhapura
area of Ahmedabad in Gujarat, only 20 percent of the students were Muslims. But
when riots involving the Muslims of Juhapura and the Hindus of nearby Jivrajpark -
Vejalpur affected the locality, Hindus started migrating. Today, all the students are
Muslims and the school is an unparalled example of harmony. In the 2002, when a
section of inflamed Muslims wanted the school closed, the parents of the students stood
like a wall behind it.

Shantiniketan’s principal says, “We never thought of moving the school out of
the area because of the love and affection of the local Muslims. Indeed they value the
high standard of education which we have set.” Such is the reputation of the school
that some of the local Muslim strongmen accused of involvement in communal riots
are willing to protect the school during the riots.

The parents of Shantiniketan’s students believe that it's the best school when it
comes to the quality of the teaching. A large number of students have gone for both
graduation and post graduation studies. Significantly, the only Muslim teacher in the
40 - member teaching staff, Husena Mansuri, teaches Sanskrit. Infact, she is so happy
at the school that she recently declined the principalship of another Muslim - run school.

Some of the students’ entries in a recent school painting competition mere truly
moving. One drew a pciture of Bharat Mata with a mosque and temple, while another
portrayed a boy tying rakhi to his sister. Trully, Shantiniketan is a beacon of hope that,
despite the provocations from both communities, Hindus and Muslims can live
side-by-side with mutual respect.

WXYZ—-00 6



10. T A & G B | Hfad Hifee AR = fau U e 9 @ S| g

et A gt B
(a) Tferfaes fafy () o wfed T
(b) Hagu fafy (i) g
(c) Trifes fafy (iii) T AL
(d) v fafy (iv) TR fearfaat
(

v) wfosT & wEER!

>

(A)
(B)

)
)

<

\%

0

v)

(iv)

o

(
(

Frfafaa =g &I ufeq aem 11 | 15 & % Y91 & I ST :

WIS wifd Fped wpa 1 feaal awadt g & WY gE el 81 59 Wb o
fesrart st wfaefirar sTeifsd st St ® @ wad v fég Toft Saaed % @ fot s s #)
2 T 1 qEde fowa dpd ¥, < o @ o o ¥ 2 HiE @ e T ¢ e s
fergall g1 =relT 1 © 39 et & wiE 1,200 foramed guera™ €1

ST 1983 H WIS ol 7 TSR H STEHSIEIE o e dgad Jeqy 3ol ¥ Mifd
Fropae 0% e o 998 399 had 20 WIEE! SE & GHAHH 91 Afehd Jag0 AR HAd &
SitarsTaTeh— ST qX o fegat o ofte S 81 o 1 oei W fewgall ot ot e &1 T 1
A % AR B GHAHH ¢ AR I8 el 1 ST fiere 59 T ¥ 1 2002 % 0 H F AR
THEHM 39 9% AT 91_d &, Tk BT o ATIHEH 3Toh [GATH AR Fh TS & T4 |
viifq fopae & TMTER wed €, “8 TR gEeH i % @R SR B8 % Fed Whal w1 Sy
off 59 Tk ¥ SRR & ST o IR H LT Wi | gehichd ot I8 § TR 3 fren % 9w 1 W
TN e A R T | o0 pa ot ofd T ot § fon wreitaes <t | i 3 T
T HFeEH ot < o SRE 36 99 # 92 g 9|

iifa feRad o forenefi & sifvsmaent @1 e ¢ fF w13 fan & e 3 7% w=ha
Tolleh § Hay afgan ¥ 1 wifd fehad & agd WR d=dt A HIae 3T’ TIdehar bt e sifid st
¥ | TSER 916 9% € T 40 Ui et <ot § e U € GUOEE € - g 5y, S Uhd
eI ¥ | T 3H Whel § 39 X P ¢ fh 3R o # qHeHH! gRI =@ SRS U Whd
T YUHETE o 61 TEE 3R fean | g | wpat | Ui =6t ufaifimn § o9 T $ st
it UfET areRg faik e areft €1 Tk 3 Afet 3R Afese & 91 YRd Al i a& iR 9411, o
T A Tk HAHM oISk bl 3701 &g & | Ut sigand g fowmn | wifd fehae smem
T fortor © o ST TEril o AR 3HEE & FeNR - JHeHH TER §EH % WY Th T
o 1Y T Hehd & |
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11. How the Shantiniketan school starts the day ?
(A) National anthem (B) Prayer
(C) Saraswati Vandana (D) Puja

12.  Write the subject which is preferred by most of the students
(A) Hindi (B) English
(C) Sanskrit (D) Gujarati

13.  Who protects the school during the riot times ?
(A) Local Muslims (B) Hindus
(C) Politicians (D) Christians

14. Who is the teacher of Sanskrit ?
(A) Ranchodbhai Kiri (B) Manisha Vakil
(C) Husena Mansuri (D) Husena Khatoon

15. What is the hope despite the communal riots ?

(A) Hindus and Muslims cannot live side by side

(B) Hindus and Muslims can live side by side
(C) Only Hindus can live
(D) Only Muslims can live

16. Match List I with List II and choose the correct answer using the codes given below :

List I List II

(Distinguished Ladies) (Area of work)
(@) Jhumpa Lahiri (i)  Journalist
(b) Barkha Dutt (i) Novel Writing
() Aparna Sen (iii) Film Actress
(d) Smita Patil (iv) Film Director
Code

@ G © @
A @) @ @0
® G 0 G ()
© @ O @ @
O @ @ w0

WXYZ—-00 8



11.

12.

13.

14.

15.

16.

vIifd foha TR T i J%sTa il § ?

(A) TTH 9 (B) WM
(C) Tt o= 9 (D) Y9
< T o A wared, o stfererar feremeff weg e €
(A) f&=<i (B)  3iUSHt
(C) H=pd (D) TS
S % 9T Thel I TR = ?

(A) T gEAHH! 7 (B) TegatiA
(C) sHfast = (D) sHEE A
H&hd 1 EATH I § 2

(A) TsewE Tl (B) WIS Fehict
(C) o Hgd (D) E T

GrgRTiaes ST % STaSE S i foRer @ ® 2
(A) &g IR qoem™ wy-are 78 ® wehd
(B) o IR TUTHM WY-TY T Tehd §
(C) *ad feg W HHd &

(D) e GHATH & Tohd §

T 1 (fafere afeemd) = gt 1 (FrEd) & gafad wifey ok == fu e 9 9 sw g

g1 Tl 11
(fafers wfgemd) CREE)
(a) guratedt (i) RN
(b) wX@r<d (i) SYAHEDR
(c) 39Ul &= (iti) TEAHT FHATRR
(d) forar wifea (iv) o fdees
EEE
(a) (b) (©) (d)
(A)  (v) (i) (i) (i)
®B) (i) (i) (iv) (iii)
©  (v) (i) (iii) (ii)
(D) (i) (iif) (iv) (i)

WXYZ—-00 9
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17.  Which of the following pair is not correctly matched ?
(A) Aajtaak - 24 hours news channel (B) F.M. Stations - Radio
(C) National Geography channel - Television (D) Vir Sanghvi - India Today

18. Which is the oldest soap opera telecasted in India ?
(A) Kahani Ghar Ghar Ke (B) Buniad
(C) Humlog (D) Saas bhi Kabhi Bahu Thee

19. Which satellite channel uses the adline, “Knowing is everything” ?
(A) BBC World (B) Star
(C) Sony (D) Zee

20. Which is the “First made in India” Kids channel of television ?
(A) Cartoon Network (B) Walt Disney
(C) United Home Entertainment’s Hungama TV (D) Nick Jr.

21. The letters in the first set have certain relationships. On the basis of the relationship
which is the right choice for the second set ?

BF:GK::LP:?
(A) JK (B) Qw
(C) VW (D) RQ

22. If the BLOOD is coded as 24113 and BRUST as 20678, then code for ROBUST is :
(A) 620781 (B) 612078
(C) 678102 (D) 610732

23. A bag contains an equal number of one rupee, 50 paise and 25 paise coins. If the total
amount in the bag is Rs. 35, how many coins of each type are there ?

(A) 15 (B) 18
(C) 20 (D) 25

24. In the sequence of numbers

2 4,116
3" 7" 77 21" 31
the missing number X is :
8 6
A) — B —
5 7
O — D) —
© 10 (D) 10
WXYZ-00 10



17. fr=fafed # @ w0 @ @ gafaq = €2
(A) TSI - 24 He T el GHER =Hd
(B) U®. TWH. R¥H - el
(C) v fSEmnfRe =m e - fafasH
(D) R fweht - sfrean g2
18. WRd H eAifas sl Yo QAT WY ST hi-dr § 2
(A) A B ER R (B) AR
(C) wwEm (D) ®E o Fft =g oft
19. HITET HIoAEE = 38 FIR-STR 1 FAIT LT §, “SHA1 & 96 9 77 2
(A) o S ©l aes (B) ®R
(C) =t (D) S
20. SAIfasH W “HAYem qRA H S T =6 Bl 9o BT 2
(A) A HeTh (B) dee fesHl
(C) FEfee B TuaReTHE i1 &1 et (D) fr& SfeR
21. Ted UY=Ed & Al § U fAfiw HEy 1 W €EY % SMEUR W T 9= & fau wd
forehea i @1 72
BF:GK:LP:?
(A) JK (B) QW
© VW (D) RQ
22, A€ BLOOD %I %< 824113, 3R BRUST I &< & 20678, A ROBUST & &2 T :
(A) 620781 (B) 612078
(C) 678102 (D) 610732
23. TH It H Uk w99, 50 T R 25 99 F foaeht o G SR ¥ At 9t § 5 35 T
¥ o e YR o fawi ot dem @ 2
(A) 15 (B) 18
© 20 (D) 25
2 4 n 16
4 37 M A m
aiaﬁ%j@rwﬁgaaiaax%:
8 6
(A) T (B) 0
5 7
© T (D) 0
WXYZ —00 11 P.T.O.



25. If A stands for 5, B for 6, C for 7, D for 8, and so on, what do the following numbers

stand for :

22,25,8,22 and 5 7?

(A) PRIYA (B) NEEMA
(C©) MEENA (D) RUDRA

26. Which of the following statements are always true ?
(@) A wooden table is a table
(b) Now, it is raining or not raining
(c) The sun rises in the East every day
(d) A chicken comes out of a hen's egg

Choose the correct answer from the code given below :

Code :
(A) (@) and (0 (B) (@) (c) and (d)
(©) (a) and (b) (D) (b) and (c)

27.  Which of the following statements are mutually inconsistent ?
(a) Mostly poets are not egoistic
(b) Mostly poets are humble
(c) Some poets are egoistic
(d) Some poets are not non - egoistic

Choose the correct answer from the code given below :

Code :
(A) (a) and (d) (B) (b) and (0
(C) (a) and (o) (D) (c) and (d)

28.  Which of the following statements is/are absolutely impossible ?
(a) A woman giving birth to her own grandchild
(b) A man attending his own funeral
(c) The Sun not rising in the East some day
(d) Cars running without petrol

Choose the correct answer from the code given below :

Code :
(A) (a) and (b) (B)  (c) and (d)
(S (b (D) (a)

WXYZ —-00 12



25. ARCAF A5, BH A 6 §, C H1 Ted 7 &, D 1 T 8 T, TS af F=fafaa it
22,25,8,22 3R 5 1 YA T :

(A) PRIYA (B) NEEMA
(C) MEENA (D) RUDRA

26. frefafed # § #F 9 %27 9¢d T B § 2
(a) THS! A TS TH TS BT S |
(b) TH GEI AT A9 S @Y A AW A ;A R
() 93 9ca yd foen 9 3fed gran 71
(d) IS1 g % 27 § fsheran ®
foretferiad e 9 w8 v gRT -

EEE
(A) (a) 3R (0) (B) (a), () ¥R (d)
(C) (a) &R (b) (D) (b) ¥R (0)

27. fr=fafed § 9 FA9 weA e fade €2
(a) ITUHR Hfa sEFR & T T
(b) frepd wfa fomw ¥
() TS Hid SEHR B B |
d) FD 9 R-sEFR & B T
fireferfed %2 9 T 3w 9T

%<
(A) (a) ¥R (d) (B) (b) 3 (c)
(C) (a) 3R (0) (D) (o) ¥R (d)

28. frafafed # & & GU/A Fe ia: ey €72
(a) ToREt ©f g o794 dId 1 = <1
(b) et o= gRT oToft eTafy # Sufierd 21
(c) Tt o7 g =1 g@ & 3fca 7 2
(d) R T $EF o o1 =@
FrAfefad e & T8 I 9RT -

@‘:
(A) (a) &R (b) (B) (c) 3 (d)
(C) (b) (D) (a)

WXYZ—-00 13 P.T.O.



29. Which of the following are incorrect ways of arguing ?
(a) If horses are cows, and if cows are sheep, then all horses must be sheep.

(b) If top actors are famous, and Shah Rukh Khan is famous, then Shah Rukh Khan
is a top actor

(c) Lata is the second sister of Raju, hence Raju is the second brother of Lata
(d) A isnotequal to B, but B is equal to C, hence A is equal to C.

Choose the correct answer from the code given below :

Code :
(A) (a), (b) and (c) (B) (a), (¢) and (d)
(©)  (b), (c) and (d) (D) (a), (b) and (d)

30. Which of the following statements say the same thing ?
(@) “I am clever” (said by Rama)
(b) “I am clever” (said by Raju)
() “My son is clever” (said by Rama’s father)
(d) “My brother is clever” (said by Rama’s sister)
(e)  “My brother is clever” (said by Rama’s only sister)
(f)  “My sole enemy is clever” (said by Rama’s only enemy)

Choose the correct answer from the code given below :

Code :
(A) (@) (), (d), (e) and (f) (B) (a) and (b)
(C) (d) and (e) (D) (a) and (f)

Study the following graph and answer Question Numbers 31 to 33 :

10 ||:|Dew-drop [ Cool-sip -Pep-upl
35 4 35
Z 5l B 25 25 | [25 25
S o0l S 20 20 20
<
2 15 T 15 15
E 10 T 7
5 +
0
1988 1989 1990 1991 1992 1993
YEAR
WXYZ—-00 14



29. fr=fafed § 9 w99 9% & o &1 §2
(a) afe e M g, ofiX afg md 9 F, A1 wf =g 94 ¥
(b) Af Soaw Al ufos €, o vmeeE M ufas R, df weeE e wan S 7
() a1 TS, THY oA &, 31: US| Al ol TOU WK R |
(d) A, BF AT T, fFg B, C F AUH T, 7/: A, C & TOF ¥
foreferfion e @ T8 3T 9T ;

%<
(A) (a), (b) ¥R (c) (B) (a), (c) 3R (d)
(C)  (b), (c) 3R (d) (D) (a), (b) &R (d)

30. fr=fafad § 9 S99 FoF TF & 91 e © 2

a) “HARY (I9 ZR el T40) |

b) “HAQRT (TS FN H M) |

¢)  “BUF Ig R’ (W % T gR M)

d) “B 9 TR T (T9 I 5EH gRI el )

e) “H W TG R’ (TH hl Shalldl oe §RI el 741)

f)  “HA ATl I TG &7 (IH o Thaid I3 GRI el TT)

@‘:
(A) (@), (@) (d), (e) &R (f) (B) (a) &R (b)
(C) (d) 3R (e) (D) (a) ¥R (f)

T 3R T HeTET HIFIT T U9 W& 31 § 33 T o ST Giaig |

_ |[Ofes-gm Owa-fov  l¥-sm |

40 -

30 30

35 1 35
ar 304 30 30 30
= o5 | 25 25 25 | [25 25
E 20 4 S 20 20 20
15 1 15 15
f
0
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31.

32.

33.

In which year was the sale of ‘Pep - up’ the maximum ?
(A) 1990 (B) 1992
(C) 1993 (D) None of the above

In the case of which soft drink was the average annual sale maximum during the
period 1988 - 1993.

(A) Pep - up only (B) Cool - sip only
(C) Cool - sip and Dew - drop (D) Pep - up and Dew - drop

What was the approximate percent drop in the sale of Pep - up in 1990 over its sale in
1989 ?

(A) 5 (B) 12
(C) 14 (D) 20

FOR BLIND STUDENTS (Q. No. 31 to 33)

Read the following paragraph and answer question numbers 31 to 33 :

It is logical to predict victory for Australia in its approaching series in India.
Statistically Ricky Pointing’s side is a clear 20 point leader in the ICC Test championship
table and 25 points ahead of Sourav Ganguly’s fourth place combo ? History, however,
does not always observe the laws of logic, and the fact that 35 years have elapsed since
Bill Lawry’s team achieved Australia’s unique series win in India, suggests that this
year the odds are not all stacked in Australia’s favour.

More recent statistics support this viewpoint. Ganguly’s men won the 2000-01
rubber on the subcontinent 2 - 1, they then defied their abysmal record in matches
abroad by sharing the honours of the 2003-04 rubber in Australia.

In early 2004, they repeated their successes against traditional rivals, Pakistan,
with Sehwag scoring 309 runs at Multan where he and Tendulkar compiled a joint
335. In Rawalpindi, Dravid’s 270 set the seal on an innings victory and a 2 - 1 triumph
in a series which broke the perennial deadlock between the two nations.

31. Which subject does not observe the Laws of Logic ?
(A) Philosophy (B) Biochemistry
(C) English (D) History
32. Indian team got success in early 2004 against their traditional rival :
(A) Pakistan (B) Australia
(C) England (D) Bangladesh
33. In which place of Pakistan Sehwag scored 309 runs ?
(A) Kolkatta (B) Rawalpindi
(C) Multan (D) Mumbai
WXYZ—-00 16



31.

32.

33.

fora od o “Uu-279 =+t fosht Haifees o ?

(A) 1990 (B) 1992

(C) 1993 (D) SWI® HE &

< TR stafy (1988 - 1993)H form wiwe féa &t sitaa anfie fasr Taifees of ?
(A) hadl U- 319 (B) hadl hid-Tay

(C) whia-Tog wd fea-gm (D) Y9-379 T fea-gm
1989 @t G H 1990 St Y9-3719 i fashl # @1 foha Tfaem ot fimrere o1E ?
(A) 5 (B) 12

(C) 14 (D) 20

hael gIYEH BTl o farq (W9 . 31 9 33)

Frefafea 3= i ufed i U9 . 31 ¥ 33 Tk oh ST ST |

31.

32.

33.

T & ST YRA SR H feran =t Siq =t wfars Aol o<t difeheh | 3Tishet
% vore IR ikt difén st g o, o, €. o wfremfi w5 g | 20 i 9 iR Y e
R TS A T & T} H 25 3k M T W IS W, siaer goem difeher famt w =&
Tedr | q2a Ig § o6 o i & g # emegferan S il YRa W Sfid oS fRd gu 35 a o
T T T2 I Tl © foh 39 9 yrSl g TE ¥ st % ue § shag TRl ¢

TS TSN 2k off 39 ASIRT i Y &1 e & AP A 3 HEEd H 2000-01
T 2-1 9 S o1 39k a1 focsht xRt W 319 @ie Ye¥Hi o Repre &l =l Jaid g
Tfer™n | 2003-04 &t RS & W BIE |

2004 F YwAT Tl § IR FHAET 1 SR HH 97 IRURE Gfegal qiREd &
Tt off SR W@ | FanT A goad o= § 309 T 91T 37 dgeteht & 919 335 i i ArEierit
| ToIAfdEl | gfae o 270 W 7 Tk IR § Sfid i e W@ 3¢, 39 9ie § 2-1 9 Sfia
1 AT YRR R e, fem 21 <9 & ot oRE | o U i arel o |

ST fow ek o AT T AIe TE il ?

(A) TR (B) T hftreg
(C) TSt (D) sfae™

2004 % Y& H YA A 7 A9 WERET Hidgs R fosm@ ured
(A) TIfRE (B) sTeefern

(C) Swive (D) ey
ifehEa™ & fhT TIM W GgamT 7 309 T 91T ¢

(A) ICThRIAl (B) TEeAfuuE!

(C) HeH (D) gk
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34. The “Report on Currency and Finance” for each of the financial year in India is published

by :
(A) Reserve Bank of India (B) Ministry of Finance
(C) Planning Commission (D) Central Statistical Organisation

35. The number of students in two classes A and B and the respective “mean” of the marks
obtained by each of the class are given in the following table :

Class A Class B
Number of Students 20 80
Arithmatic Mean 10 20
The combined “mean” of the marks of the two classes will be :
(A) 18 (B) 15
(©) 10 (D) 20

36. ICT stands for :
(A) International Communication Technology
B) Intera Common Terminology
) Information and Communication Technology
D) Inter connected Terminals

37. Which of the following statement is NOT correct ?
(A) Computer is capable of processing only digital signal
(B) Computer is capable of analysing both quantitative and qualitative data
(C) Appropriate software is required for processing the data
(D) Computer is capable of processing digital as well as analog signals

38.  Which of the following is the appropriate definition of Information Technology ?

(A) Information Technology refers to the use of hardware and software for processing
information

(B) Information Technology refers to the use of hardware and software for distribution
of useful information

(C) Information Technology refers to the use of hardware and software for storage,
retrieval, processing and distributing information of many kinds.

(D) Information Technology refers to the use of principles of Physical sciences and
Social sciences for processing of information of many kinds.

39. Which of the following statement is correct ?
(A) Virus improves the speed of processing information through computer
(B) Internet does not allow the virus to spread
(C) Virus is a part of software
(D) Virus is an operating system

WXYZ—-00 18



34.

35.

36.

37.

38.

39.

IRA &% JA forchia-ad § e o1 et 3R wEAR” YRl i ®
(A) T s 31w e (B) form wamera
(C) AISHI AT (D) oo wfediswa AffESE

Trefafaa aifton & < wansti A 3 B & foenfoai = 9w 3R qdie %l g 31fsid 3ieh
fegm g

HATA B
BET ot & 20 80
EEi sl e IR 10 20

ST et & STl Y g ofted ®
(A) 18 (B) 15
(G 10 (D) 20

3T, . 3. TS Y §

(A) ZECREA HETRIA TSI
(B) =N WA THAASH

(C) SHTHIE TUE HRYFRYH SISt
(D) 3= FHihee JHTeH

=1 5 | 9 W1 e wE e 72

(A) FIX e fama &1 duiia & # a9¢ 2

(B) T HEATHS Td YU STHN! ol faversor i § mef T
(C) et I HeMRa i o AT ST EITEeR i S ¢ |
(D) HFIX Eifed Td s fea i doifid & § §0df T

frefafad & & g Frenfrent & Swgw i o o 72

(A) A H HIRA A o T ST # A0 T e 3R Aeedwr i g=e1 Uit
FEd B

(B) VSR 1 & faawuor & fTu 3w # &g 731 gréar SR Areerr Sl g1 Uit
FEA T

(C) = WehR it T Rl TR, A W4, T SR foewor & fore 3w # @ T2 gréaen
3R AR T g Wenfirht wEd |

(D) T YR T =1 o6l eifa v & fag vitfaes foaam wd wmfse faam & fagra &
YA T FAT Frenfreht FEd 2|

=1 # @ & W weH T R ?

(A) ATETH FHTRR F GR GIA1 % GER i T 1 g7 <1 B |
(B) TeTIE IEH I el TR <l T

(C) aTERE WA &1 fewdn T

(D) aTeXd T MufeT fawen ¥
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40. Which of the following is correct statement ?
(A) Computers can be used for diagnosing the difficulty of a student in learning a
subject
(B) Psychological testing can be done with the help of computer provided a software
is available
(C) A set of instructions is called a programme
(D) All the above
41. Global warning during winter becomes more pronounced at the :
(A) Equator (B) Poles
(C) Tropic of Cancer (D) Tropic of Capricorn
42. In the study of man - environment interaction, the statement of Miss Semple that
“the humans are solely the product of their environment”, is :
(A) An opinion (B) A prejudice
(C) A fact (D) A widely accepted phenomenon
43. In analysis of man - environment relationship Pragmatic Possibilism implies that :
(A) There is no limit for man to exploit resources of earth
(B) There are limited possibilities to explore earth’s resources
(C) The man has to watch and assess the situation and then go ahead with resource
utilization
(D) The man has to keep in mind only his basic needs while planning to harness the
potential of resourceful earth
44. Arrange Column II in proper sequence so as to match it with Column I and choose the
correct answer from the code given below :
Column I Column II
Activity Noise level
(a) Hearing (i) 30dB
(b) Whispering (i) 1dB
(c) Interference with sleep (iii) 60 dB
(d) Normal talk (iv) 30-50dB
Code :
@ ® © @
@ O @ ) ()
® G @ G ()
© @) @ G
O @ O @ ()
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40.

41.

42.

43.

44.
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=1 & 9 F 91 FeH W 2

(A) T foawa &1 g | faenefl & wfeE #1 feM wrepe &t wera § foha 51 g 7
(B) 3T TITEo?R IUCTsY ¥ dl HATIeh G0 e shi Terdl | fohan S wehan €1
(C) oA % T= I Y HEd ¢ |

(D) 3IHH G+t

J-HUSEHT A9 Wiaeel # iR s1fersk 21 <t €

(A)  forged @ (B) Yol W
(C) % W@ W (D) Heh W@

HHI-GATeR0] SFTUHa o 31 § 19 97ga o1 e for “JHd quid: 1o gafexor
IAE &7 TH :
(A) HAE (B) TEEE

(C) TAT (D) g wiFa Tafa ¥

HFE- TR0 Ty ot e # AR dyadrg o fAfeaed € f

(A) gt % HETeEl % e | e o fow i g i §

B) et o HETEHI o ST H HHe % fore wfad dererrd €

) \d ki gRfEefd s fitern T SHeR godind R GHIEE STAN HEl 9T

C
D) HHd W G qof geat i 316 Hl START H AN Hl ASHT S HHI hadl
SR SAEYFhaISA i &A= § T =1fey

(
(
(

e 11 1 shietd 1 | Hferd e < foe ayferd orha § oafted shifse der e fou g
% ¥ HE W I
W 1

()

<hlcTH 11
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45. The maximum loss of forest lands in India is caused by :
(A) River valley projects (B) Industries
(C) Means of transportation (D) Agriculture

46. In which year the University Grants Commission was established ?
(A) 1948 (B) 1944
(C) 1953 (D) 1960

47. Another name of Basic Education or Nai Talim is :
(A) Compulsory Education (B) New Education Policy
(C) Wardha Education Plan (D) Sarva Shikshya Abhiyan

48. The Idea of ‘Democratic Decentralisation” in India was popularised by :
(A) A.D. Gorwala Committee, 1951 (B) Paul H. Appleby Committee, 1953
(C) B.R. Mehta Committee, 1957 (D) Ashok Mehta Committee, 1978

49. In India, a political party is recognised as a National or Regional Party by the :
(A) President of India

(B)  Election Commission of India

(C

(D

) Law ministry in consultation with the Law Commission of India
)

Union Parliament in consultation with the State Legislatures

50. Which of the following factors is/are responsible for the increase of the role of
Government in Developing Countries ?

(a) Economic Planning (b) Rising expectation of People
(c) Privatisation (d) Emergence of the concept of Welfare State

Select the most appropriate answer from the code given below :

Code :
(A) (a) and (d) (B) (a), (b) and (d)
(C) Only (c) (D)  Only (d)
-00o0-
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45.

46.

47.

48.

49.

50.

IRa # a7 4 1 Faifee g gem ©
(A) < = AR g/ (B) SEFI gNI
(C) ufiaed o deHt g (D) HfUgM

favafaenera STHEM ST i TIoHT foh o | &Y 78 off 2

(A) 1948 H (B) 1944 H

(C) 1953 # (D) 1960 ®

it foren =1 =€ ey 1 U AW R

(A) e foram (B) ¢ foram +fifa

(C) = ferem s (D) e foan sAfiam

ARA H Alhdirseh faehsiehiol 1 fouR aTehiUa aem 7=
(A) T 2. TIREren |ibfd, 1951 g/ (B) didl WH. Uqarsl |iHfd, 1953 §RI
(C) . AR Wear |iHfd, 1957 g/ (D) 3Teieh Hedl 9fHfd, 1978 g1

IRd # fRdl ToTaeh <t 1 T a1 &5 gt o ®9 H [=Ia1 a1 ©
(A) HRd <kl qeUfd

(B) R4 sl fHat= smam

(C) wrd = fafy s & quwel 9 fafy @=mera g/

(D) T fau™ qued & WY § HH 1998 g1

~"

forshraelicr <ot & TR i Tl g2 i % fou f=1 § 9 i Q/Ha SR SIer €72

(a) oTfeeR fearem (b) TN R STt g8 TRy
(c) TSRz (d) TAIHBHTAHR] FTTURON Tl I
%2
(A) (a) ¥R (d) (B) (a), (b) 3 (d)
(C) = (c) (D) e (d)
-00o0-
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